Section 2.1—Graphs of Parent Functions

Definition A function is continuous on an interval of its domain if and only if
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Examples of discontinuities
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Increasing, Decreasing, and Constant functions
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Example Determine the intervals on which the function is increasing, decreasing, and/or con-

stant.
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The Identity Function
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The Squaring Function
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Symmetries of the Identity and Squaring Functions
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Symmetry and Even/Odd Functions
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The Cubing Function
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Symmetry of the Cubing Function
S N ()

So (X)’ 1S é,_,

ﬂam-(‘we v m\a V)F)C? (¢ g»rwmjrw dt\;w'\' v Mpn,

K oaly 1
The Absolute Value Function Y
‘ ™
Fopy= (x4 %0
N ]‘F X<

18



The Relation x = ?
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Symmetry about the x-axis
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The ONLY function with x-axis symmetry
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Example Determine whether the functions are even, odd, or neither. What kind of symmetry
to the graphs have (if any)?
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